
Time: 10 Minutes Paper G. Science 8 Total Marks: 10

2nd Month, 1st Week, 4th Day Syllabus: Unit # 3 Watson and Crick model of DNA

Q.No.1 Encircle the correct answer from the following choices. (0.5×6 = 6)

ŠŠŠŠgggg̀`̀̀ffffssss~~~~ÐÐÐÐŠŠŠŠgggg„„„„����ZZZZ[[[[»»»»ZZZZNNNN[[[[™™™™,,,,ZZZZzzzzggggQQQQkkkkÆÆÆÆ¤¤¤¤////ŠŠŠŠŠŠŠŠZZZZ]]]],,,,{{{{ÎÎÎÎNNNNXXXX

i. DNA model was proposed by: eeee~~~~ZZZZ++++ZZZZ}}}}»»»»ââââeeeewwww''''''''ÅÅÅÅ§§§§ssssÐÐÐÐ7777HHHHŠŠŠŠHHHHååååXXXX

(a) Charles Darwin egÖeZgzy (b) Gregor Mendel ¤/v�w

(c) Robert Brown gZ',^',Zîy (d) Watson and Crick zZ?Zzg™u

ii. Each DNA molecule is made of ________ of small units called nucleotide.

CCCCÙÙÙÙeeee~~~~ZZZZ++++ZZZZ}}}}ââââÅÅÅÅ5555½½½½3333ðððð GGGGGGGGwwww''''''''''''ggggKKKKZZZZ»»»»ÇÇÇÇVVVVÐÐÐÐïïïï™™™™¯̄̄̄ƒƒƒƒ@@@@****ìììì&&&&EEEE®®®®ÓÓÓÓ44443333ððððGGGGJJJJNNNN****[[[[++++iiiiëëëë÷÷÷÷XXXX

(a) Hundreds %zV (b) Thousands DÙZgzV (c) Millions ÑÅV (d) Billons Zg1V

iii. DNA molecule consists of _____ strants. eeee~~~~ZZZZ++++ZZZZ}}}}»»»»ââââÅÅÅÅ5555½½½½3333ðððð GGGGGGGGwwww''''7777hhhhiiii6666,,,,ŒŒŒŒƒƒƒƒ@@@@****ììììXXXX

(a) Two Šz (b) Three & (c) Four eg (d) Five 0*õ

iv. The strands of DNA are held together by:

eeee~~~~ZZZZ++++ZZZZ}}}}ÆÆÆÆ7777hhhhiiii''''''''ÆÆÆÆffffgggg))))aaaa}}}}ƒƒƒƒDDDD÷÷÷÷XXXX

(a) Ionic bond MÇ7-!*&+ (b) Covalent bond Ãz&Ó43ï GG
EH!*&+

(c) Hydrogen bond ;àgzX!*&+ (d) Coordinate covalent bond ÃMgeÆÃz&Ò3ï G
EH!*&+

v. Guanine of one stand makes bonds with opposite strand of:

ÍÍÍÍZZZZ2222»»»»ZZZZqqqq----7777hhhhZZZZLLLL####³³³³7777hhhh''''''''''''ÆÆÆÆ‚‚‚‚BBBB!!!!****&&&&++++¯̄̄̄@@@@****ììììXXXX

(a) Adenine Zi+"54è G
E

GE (b) Thymine åð} (c) Uracil -gZË (d) Cytosin ‚ç̄

vi. The types of nucleotides in DNA molecule are:

eeee~~~~ZZZZ++++ZZZZ}}}}ââââÅÅÅÅ5555½½½½3333ðððð GGGGGGGGwwww~~~~EEEE®®®®ÓÓÓÓ44443333ððððGGGGJJJJNNNN****[[[[++++iiiiÅÅÅÅZZZZllllxxxx÷÷÷÷::::

(a) Two Šz (b) Three & (c) Four eg (d) Five 0*õ

Q.No.2. Write short answers. (2 × 2 = 4) ¿¿¿¿ÎÎÎÎZZZZÑÑÑÑ]]]]ÆÆÆÆ����ZZZZ!!!!****]]]]KKKKXXXX
(i) Who proposed the model of DNA? eeee~~~~ZZZZ++++ZZZZ}}}}»»»»ââââeeeewwww¾¾¾¾ääää7777HHHH????
(ii) Writes the types of nucleotides of DNA molecule. eeee~~~~ZZZZ++++ZZZZ}}}}ââââÅÅÅÅ5555½½½½3333ðððð GGGGGGGGwwwwÆÆÆÆEEEEèèèèNNNN****[[[[++++iiiiÅÅÅÅZZZZllllxxxxKKKKXXXX

Q.No.3. Write long answer.                         (3) ----����ZZZZ[[[[KKKKXXXX
(i) Explain the model of DNA. eeee~~~~ZZZZ++++ZZZZ}}}}ÆÆÆÆââââeeeewwwwÅÅÅÅzzzzŸŸŸŸssss####™™™™,,,,XXXX
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